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QUESTION 1

You have an in-house HTTP application running on port 8443 but you are not seeing HTTP optimization. You checked
and made sure that the HTTP blade is enabled. What is the likely problem?

A. Primary port needs to be on the LAN side of the Steelhead

B. There is a separate license key for the HTTP blade

C. The HTTP blade will only work on port 80 and 8080 and can not be changed

D. The HTTP blade only supports HTTP 1.1 and the application is using HTTP 1.0

E. HTTP blade is enabled by default on port 80 and 8080. An in-path rule is necessary for all other ports.

Correct Answer: E

QUESTION 2
Which of the following best describes the way a CMC appliance policy can be created?
A. By creating new policies through the CLI

B. Policies can be created either manually, via a configuration fetch from a Steelhead appliance, or by copying another
policy

C. By copying from a text file
D. Policies can only be created manually

Correct Answer: B

QUESTION 3

When enabling WCCP v2 support, what does a multicast TTL value of 1 imply?
A. This enables WCCP v2 support

B. The Steelhead appliance uses a multicast scope of 1 hop

C. This enables WCCP multicast

D. This enables WCCP unicast

Correct Answer: B

QUESTION 4

At the data center, two SteelHeads are deployed in parallel, configured with connection forwarding. They are both
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actively optimizing connections via inpathO_0 and the customer requires that optimization continues in the event of an
appliance failure. Which features should be configured to provide the customer with optimization if an appliance fails?

(Choose two.)

A. no interface inpath0_0 fail-to-bypass enable

B. interface inpath0_0 fail-to-bypass enable w-failure
C. No in-path neighbor allow-failure

D. In-path neighbor allow-failure

E. no asymmetric-route-detect enable

Correct Answer: D

QUESTION 5

The purpose of Intelligent Forwarding is to:

A. Automatically detect Steelhead appliances in the network

B. Help prevent network loops

C. Assist in the creation of static routes on the Interceptor appliance
D. Preclude the need for proper routing

Correct Answer: B
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